Forming and Simplifying Expressions

1. There are n paperclips in each pot. Match the expressions which describe the number of
paperclips with each scenario.

The number of paperdips in 4 pots. l L g
The number of paperdlips in a pot after [ $ n
4 paperclips are taken out.
Thenuszer of paperdlips in a pot after [ $ dn
8 paperclips are added.
One pot is shared between two smaller

g | @ $ 4n-3)oran-12
pots; the number in one smaller pot.
The number of paperdips in 2 pots. ’ * n+8
The number of paperdlips in 4 pots it -4
when 3 are removed from each pot.

2. Ineach pyramid, add the two expressions from the two blocks below. Leave your answers in
their simplest form.

a.
4x 3 2y

b.
2a-7 a+h h+3

C.

4m 2p+5 IHm-=-1) 7n+m*
d.
Sa+ 4




Optienal Challenge:
Design a three-tiered pyramid (or fowr-tiered, if youre brave!] which has a top block of value Sa =+ 3

1. a Georgia thinks of a rumber. She adds four ta the number then multsplies this by 12.
Given that her starting nusmber was x, write an expression for her final number.

b. Rebecoca thenks of a number. When she doubles that number and adds ane it ghves the
SATE answaer a5 adding T oo the onginal numiber. ¥Write an equation showing thissiuation

Optienal Challenge:
Sohwe the eguaton in part b to find Rebecca’s startng number.

4. Jon is xyears obd. His sister, Angie, |5 fwo years younger than him. Thesr frend s three times

the age of Angie. Winte an expression for the sum of thesr ages, ghang your answer in terms
af r and in its simplest form.

5. There are three car parks in a town. Car park A can hold up to n cars. Car park B can hald
twice this amownt Car park € can hold 100 cars more than car park A

if car parks B and € are full and car park A has 9 free spaces, wnte an expression in tenms aof
a for the number of cars in the three car paris.



Forming and Simplifying Expressions Answers

1. There are n paperdips in each pot. Match the expressions whech desonbe the number af
paperdips wath each scenario.

The number of papenchps in £ pots. g
The number of paperchps in a pat afier .
4 paperchos are taken gut

The number of paperchps in & pat afer A
& paperchps are added.

One pot is shared betwseen two smaller

pots; the number in one smaller pot dpn - 3)or dm - 12

The number of paperchps in 2 pots. m+8

The number of papenchps in £ pots

when 3 are removed from each pat wos

2. In each pyramid, add the two expressaons from the two blodics bedow. Leave your arswers in
their simolest farm.

Ax+ 2y +6

dv +3 I 3+2y

IH. b—

Ay I 3

I-l.l:ri-:-l'll-ﬂ-

3a+b-7 |a+zb+3 |

20 -7 | a+h b+3

I mt+ 13m + Tm+ Gp + B

Tm+d4p+ T I_m-h-h+1'-+q,.|

dm+2p+5 2p+ 3m+2 I m+ 3w+ Tm =3 I
4m I ip + 5 I Hm -1] I J01+ I
dl
T + 2 + 16

I a +4 Ii.u'i-ﬂn'lz

a4y 2ir + 4 I 2+B I




Optienal Challenge:
Design a three-tiered pyramid (or fowr-tiered, if youre brave!) which has a top block of value Sa= b+ 2

1. a Georgia thinks of a rumbser. She adds fowr to the number then mulisplies this by 12.
Given that her starting number was x, write an expression for her final number.

12(x+ d)or 12y + 48

b. Rebecca thenks of a number. When she doubles that number and adds ane it gives the
same answaer as adding ¥ to the onginal numiber. Write an equation showing this siuation

2Zr+1mx+7

Optienal Challenge:
Zohwe the eguaton in part b to find Rebecca’s startng number.

4. Jonis xyears old. His sister, Angle, |5 two years younger than him. Thesr frend |5 three times
the age of Angie. Wnte an egpression for the sum of thesr ages, ghang your answer in IErms

aof r and in its simplest formo

X+r-2+3y-F)=8c-8

5. There are three car parks in a town. Car park A can hold up to n cars. Car park B can hald
twice this amownt. Car park C can hold 1060 cars more than car park A

if car parks B and C are full and car park A has 9 free spaces, wamie an expression in tenms af
a for the number of cars in the three car paris.

-9+ 2;+ g+ 100 =4 +91



